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HW #1 20 points (5 points per question)

Due Monday 2/25
(1) 
Chomsky (Ch.3) showed how Condition C effects not obviously determinable at SS (the Freidin/Lebeaux phenomenon) can be explained by an LF approach, given certain assumptions.


a.
Summarize the account, indicating specifically what assumptions are needed.


b.
In Ch.3, Chomsky does not discuss the classic argument (his) that Condition C must apply at SS, based on examples like *Hei liked every book that Johni read and *Which woman said hei liked liked which book that Johni read. Briefly summarize the classic (LGB) argument, then discuss how the phenomenon might be captured in the LF theory of Ch.3. 

(2) 
Compare the Barriers framework and the phase-based framework. In particular, provide derivations of the following examples and point out similarities and/or differences of the two frameworks. 


a.

How did you eat the cake?

b.

What did you eat?

c.

What did you think that John ate?

(3)
Discuss how Chomsky introduced/motivated phases. Address the relevance of the following examples from Hornstein et al. 2005 in this context. 


a.

Someone is wondering whether there is someone here.

b.

There is someone wondering whether someone is here.











(Hornstein et al. 2005: 352)
(4)
Chomsky (2000) proposes that transitive vPs are phases but unaccusative VPs and passive VPs are not phases. Discuss whether the following examples are consistent with the proposal. (Assume that the judgments are as given.)

a.

[Which of the papers that hei gave Maryj] did every studenti ask herj to read 



carefully?

a’.
*
[Which of the papers that hei gave Maryj] did shej ask every studenti to revise? 
  



(Fox 1998:157)

b.

[At which of the parties that hei invited Maryj to] was every mani introduced to 
 


herj ?

b’.
*
[At which of the parties that hei invited Maryj to] was shej introduced to every



mani? 







(Legate 2003: 507)

